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Question Number : 1 Question Id : 755905815 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following options is NOT available in the header and footer options of MS Word 20137

Options:

, w Different first page

- » Different odd and even pages

= # Show text document

4 « varying headers and footers for each paragraph of a document

Question Number : 1 Question Id : 755905815 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Microsoft Word 2013 & o s HiT org org fee! & s & 2 517 w1 Ry 3ueey /8 23

Options:

L f&= 5=/ g5 (Different first page)
- % foew faww 3k @7 T3 (Different odd & even pages)

. » TS GFAES @ (Show text document)
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Question Number : 2 Question Id : 755905816 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Where does the header appear in an MS Word document?

Options:
, « Atthe top of every page

> u Atthe bottom of every page

5 % Only on the first page

4 % Only on the last page



Question Number : 2 Question Id : 755905816 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Word &R # Y o/ el fg@s &ar 872

Options:
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Question Number : 3 Question Id : 755905817 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A program embedded in the semiconductor chip during the manufacture is called:

Options:
1 % human ware

> o firmware
3 # live ware

4 % hardware

Question Number : 3 Question Id : 755905817 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AT & S sd=res = 7 gfeafed Sens & F4r FEr Jar 27
Options:

EIAA I

1 ® ]




Question Number : 4 Question Id : 755905818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Inverters are referred to as small circuit boards used to convert into

Options:
1= alternating current (AC); direct current (DC)

5 of direct current (DC); alternating current (AC)
- » electrical signals; mechanical signals

4 % modulators; demodulators

Question Number : 4 Question Id : 755905818 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 5 Question Id : 755905819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The feature allows users to display the devices attached to the system with their drivers.

Options:
% drive manager

1
- % disk manager

5 % control panel

4  device manager

Question Number : 5 Question Id : 755905819 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
gheem & 39Tl 39 SR AN faEeH & B B i wefia & ' &

Options:
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Question Number : 6 Question Id : 755905820 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In a computer system. which of the following is responsible for providing an interface to a user?

Options:

| « Operating system

=~ % Processor
2 ® RAM

4 % Hard drive

Question Number : 6 Question Id : 755905820 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
e & v 50 & #RoT FoX e & s99rRTRaT F1 $THH ITAH g 87

Options:

1/3ﬁmﬁm
zlﬁm
. » TEos AEEH FfA (RAM)

4 * glé—glga’

Question Number : 7 Question Id : 755905821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT an arithmetic operator in Excel 20167



Options:
; % +(Plus)

- w | (Asterisk)

5 ® %% (Percent)

4 v = (Equals)

Question Number : 7 Question Id : 755905821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

fo=faraaT & ia @1, EXCEL 2016 § 3&erorg 3T9yeT a8l 87

Options:

1 ® * (L?Rl:r)
o % * (ARTH)
- = % (IFrd)

g = (MR

Question Number : 8 Question Id : 755905822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following devices is used to connect your computer to the Internet?

Options:
1 % Processor

- % Motherboard
3z % USB drive

4 « Modem

Question Number : 8 Question Id : 755905822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1_3@%
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- » USB §®BT
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Question Number : 9 Question Id : 755905823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Refer to the image shown on the screen. Identify the name of this device.
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Options:

1 « Hard Disk
-~ % RAM
5 % Microphone

4 % Pen Drive

Question Number : 9 Question Id : 755905823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

v 8 35



, » TEos A FfE(RAM)
o » HATSHB

. % 9T g3

Question Number : 10 Question Id : 755905824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the name given to the part of a circle on which data is written in a storage media?
Options:

, % Spiral

- w Cylinder
- % Head

4 « Sector

Question Number : 10 Question Id : 755905824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 11 Question Id : 755905825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In computers, the data and instructions of users are received by

Options:
1 ¥ mput umt

> % outputunit



T B ATU

4 % CPU

Question Number : 11 Question Id : 755905825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 12 Question Id : 755905826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Output devices make it possible to

Options:

| « View and print data

> % scan data

5 % lnput data

4 % send data

Question Number : 12 Question Id : 755905826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
3m3eqe fasw gHT ST 2

Options:
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Question Number : 13 Question Id : 755905827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Saving is the process of:

Options:

|  Ccopying a document from memory to a storage medium.

> » making changes to a document’s existing content.
- % changing the appearance. or overall look, of a document.

, » developing a document by entering text using a keyboard.

Question Number : 13 Question Id : 755905827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 14 Question Id : 755905828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS Excel. text in a column generally has:

Options:
, = Justified alignment

- % rightalignment

5 » center alignment



4  left alignment

Question Number : 14 Question Id : 755905828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

MS Excel H, HlaH H ¢FEC TTHGAT: T &l 27
Options:

- » FeT WAF

Question Number : 15 Question Id : 755905829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS Word Ctrl — B is used to make the text

Options:
1 % italic

> % underlined
- % italic and underlined

4 « bold

Question Number : 15 Question Id : 755905829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Word & Ctrl + B T 39T19T TFEC &l FT & o g 2

Options:

4 o gies



Question Number : 16 Question Id : 755905830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following options in the file pull down menu is used to close an MS Word document?

Options:

; s Quit
> « Close
=z % Exit

4 ® New

Question Number : 16 Question Id : 755905830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TafEe & & ©5d I7 234 #5 F FiF ¥ BEeT #3996 vF MS Word SEHT 1 @g = F
B g §7

Options:
1 ® Quit

- « Close
2 ® Exit

4 % New

Question Number : 17 Question Id : 755905831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Two or more computers are connected to each other for sharing information from a:

Options:
1 « network

> % router

2 % Server

4 % client

Question Number : 17 Question Id : 755905831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 18 Question Id : 755905832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The shortcut key used for copying selected text is:

Options:

1 % Ctril+X
> & Ctrl+V
5« Ctrl+C
4 ® Chl+D

Question Number : 18 Question Id : 755905832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TafAd s Hr gfafaf s F forr svaer & & I= arelr afewe Her Fa @ 72

Options:

L % Ctrl + X
o % Ctrl + V
2@ Crl + C

. % Ctl + D

Question Number : 19 Question Id : 755905833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

To display the format cells dialog box vou have to press in MS Excel.
Options:
1 o Ctrl+1

> # Ctrl + K



2 B Cirl + 2

4 ® Ctl+D

Question Number : 19 Question Id : 755905833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
HIHE BT ST SFH & JSi3d e & [oT 3T MS Excel & F g0

Options:

| v Ctrl + 1

, & Ctrl + K
2 % Ctrl + 2

% Ctl + D

Question Number : 20 Question Id : 755905834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
allocates the largest hole available in the memory.

Options:

1 % Best-Fit
> « Worst-Fit
5 % First-Fit

4 % Last-Fit

Question Number : 20 Question Id : 755905834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 21 Question Id : 755905835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
By using which tab can you translate text in a Microsoft Word document?

Options:
1 ® Edit

-~ % Format
3 « Review

w Page Layout

Question Number : 21 Question Id : 755905835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

| Edit

- #% Format
= « Review

4 » Page Layout

Question Number : 22 Question Id : 755905836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What i5 the margin of a page when the mirrored option is selected for top and bottom while printing & document in MS
Word 200137

Options:

; % lem; 1.25cm

- % lem:.5cm

LA

z % -Dcm;.5cm

4 o 2.54cm;2.54 cm

Question Number : 22 Question Id : 755905836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 23 Question Id : 755905837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to decrease the font size of the selected text in MS PowerPoint?

Options:
, ® CTRL+SHIFT+F

> « CTRL + SHIFT + <
= % CTRL +SHIFT+D

4 % CTRL + SHIFT +=>

Question Number : 23 Question Id : 755905837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS PowerPoint # =Ifad TFEe & Wiee &R & T F T F3 FIISa #47 27

Options:

, « CTRL + SHIFT + F

, v CTRL + SHIFT + <
- » CTRL + SHIFT + D

. % CTRL + SHIFT + >

Question Number : 24 Question Id : 755905838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to move to the preceding cell in MS Power Point?

Options:



; ®» TAB
> « SHIFT + TAB
s % CTRL +TAB

4 % ALT+TAB

Question Number : 24 Question Id : 755905838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

MS PowerPointﬁ'qjﬁﬁf@Hﬁmﬁa?%?a;ﬁﬂ'ﬁiﬂﬁﬁr%?

Options:

, « TAB
- v SHIFT + TAB
- %= CTRL + TAB

. % ALT + TAB

Question Number : 25 Question Id : 755905839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the key combination to go to the previous bookmark in MS Power Point?

Options:
, % ALT +PAGEUP

> % ALT+ENTER
5 « ALT +HOME

4 % ALT +BACKSPACE

Question Number : 25 Question Id : 755905839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS PowerPoint # Taad! gehater W I & o el waraa ar 22

Options:

. % ALT + PAGEUP

. % ALT + ENTER



- v ALT + HOME

. % ALT + BACKSPACE

Question Number : 26 Question Id : 755905840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When you press a key using the kevboard. which component will detect the corresponding key code?

Options:
, » Keychip

-  Built in processor

- u Key board controller

4 # Keyboard driver

Question Number : 26 Question Id : 755905840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

F=ir =T (Key chip)

1. ® 2
, » ¥ARAT (Built-in processor)

- ?ﬁ a5 a9+ (Key board controller)

4 % $rare 3157 (Keyboard driver)

Question Number : 27 Question Id : 755905841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Monochrome pixels are found in which of the following monitor?

Options:
1 1D

> u Crystal rays tube

5 » Cathode ray tube



4 » Gas plasma display

Question Number : 27 Question Id : 755905841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
AARH Fae TaReg § ¥ &g Afae # 97 39 22
Options:

, » T & & (LCD)

i fFFeer I3 g (Crystal rays tube)

i F2T ¥ ZF (Cathode ray tube)

, « 38 AT BT (Gas plasma display)

Question Number : 28 Question Id : 755905842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
2’s complement of (1000), is:

Options:
; % 0111
5 % 0101

s « 1000

4 % 0001

Question Number : 28 Question Id : 755905842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1000), & 2 &1 qehieF & & T 82

Options:

1 & 0111
5 % 0101
= « 1000

., = 0001



Question Number : 29 Question Id : 755905843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Microsoft Excel which of the following special function keys allows the users to edit the content in a cell?

Options:
1.+ F2

> % Shift
3z % Tab

4 % Enter

Question Number : 29 Question Id : 755905843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Microsoft Excel # m=faf@a # @ #ia @ 3w Faee F/Fsh T # Fde A FIfed A
Al 3 &2

Options:

> % Shift
s % &a/ Tab

4 % Enter

Question Number : 30 Question Id : 755905844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
is used in plotting a sequence of equi-angular spokes (called radii) in MS Excel.

Options:
1 % Area chart

> « Radar chart
= % Bar chart

4 % Line chart

Question Number : 30 Question Id : 755905844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1. ® Eﬁ'ﬂTEﬂ%
> v TR =
=z W EI'IT?H%

, % oS =T

Question Number : 31 Question Id : 755905845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
chart is designed specifically for one set of data in MS Excel.

Options:
1 # Line

> « Pie
= % Bar

4 % Area

Question Number : 31 Question Id : 755905845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1.%4*5EEE

>« G
z ® S

4_$6Eﬁ-q-r

Question Number : 32 Question Id : 755905846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
are set up to help prevent unwanted messages from entering a user's inbox.

Options:
1 % Hacklists



- % Redlists
= « Blacklists

4 % Defaulters

Question Number : 32 Question Id : 755905846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

| gferee

Question Number : 33 Question Id : 755905847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following user types can set up access rights for various users?

Options:
1 ® Guest

> « Administrator
= % User
4 % Programmer

Question Number : 33 Question Id : 755905847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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- % JUTRTRAT
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Question Number : 34 Question Id : 755905848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
is a chart that is supposed to be placed on a worksheet as opposed 1o on a separate chart sheet when using a
spread sheet software package in MS Excel.

Options:
1 # Bar chart

> % Column chart
= « Embedded chart

4 % Stock chart

Question Number : 34 Question Id : 755905848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 35 Question Id : 755905849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Different applications and documents are represented by on Windows Desktop.

Options:
1 ® label

> o icon

5 % graph



4 » file

Question Number : 35 Question Id : 755905849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Windows 3%Ferd R faffiesr gt 3 gramast & ZIRT ST AT F

Options:

| % oEd
o o TSR
3_@3%

4 8 53“

Question Number : 36 Question Id : 755905850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which of the following is NOT a Windows XP effect?

Options:
1 % Transition effect
5 #® Large icon

% % Shadows under menu

4  Pixel change

Question Number : 36 Question Id : 755905850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 37 Question Id : 755905851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The basic function of encryption is essentially to translate text into
Options:

| « hormal: ciphertext

- % Cclphertext; normal
- » English: normal

4 % hormal: English

Question Number : 37 Question Id : 755905851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 38 Question Id : 755905852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following Microsoft documents has .doc file format?

Options:
1 # Excel Document
> « Word Document

= % PowerPoint Document

4, % Image Document

Question Number : 38 Question Id : 755905852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
|« Excel ST
. Word STFgHT
> ¥ R

. » PowerPoint SFgHT

5 w N
4 % SHSA Elﬂ'-li“d-td.

Question Number : 39 Question Id : 755905853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What does OS stand for?
Options:

1 Operating System

5 ® Operating Source
s w Operating Session

4, % Operating Startup

Question Number : 39 Question Id : 755905853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
, » Operating System (3mifeeT fawen)
, » Operating Source (3ToRfeeT HIH)

. « Operating Session (HTRfET Te2r=)

, » Operating Startup (3Tt TEEaT)

Question Number : 40 Question Id : 755905854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



Contract and regulation testing is a part of:
Options:

| « acceptance testing

> % system testing
5 » Smoke testing

4 % Integration testing

Question Number : 40 Question Id : 755905854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 41 Question Id : 755905855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Web Browser is a(n) software.

Options:
, % System

-  application
5 % scientific

4 # business

Question Number : 41 Question Id : 755905855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 42 Question Id : 755905856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What are the steps to download a file?

Options:
, % Start browser > open a page > Ctrl + P

o o Start browser > select information to download > download/save file from internet (Ctrl + S)

5 % Start browser > open a page > Ctrl + L

4 % Start browser > open a page > bookmark

Question Number : 42 Question Id : 755905856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 43 Question Id : 755905857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is NOT a feature of Modem type?

Options:



, % Direction capacity

Connection to the line

ra
®

= % Transmission mode

4 « Number of connectors

Question Number : 43 Question Id : 755905857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 44 Question Id : 755905858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Broadband term covers all types of internet connections listed as follows EXCEPT:

Options:
1 % cable

o o dial-up
=  satellite

4 % DSL

Question Number : 44 Question Id : 755905858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 45 Question Id : 755905859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Since DSL is “on’™ all the time, it:
Options:

| % gives 24/7 service.

5 o Can be easy for external hackers to attack.

- % supports unlimited number of users.

4 % Ischarged more.

Question Number : 45 Question Id : 755905859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 46 Question Id : 755905860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT a high-speed internet service?

Options:
, w Fiber optic otherwise known as FiOS

> % Cable



o Pager

4 % Satellite

Question Number : 46 Question Id : 755905860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 47 Question Id : 755905861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which of the following internet service is NOT available in all locations?

Options:
1 « Cable broadband

> u Fiber optic service

s % ADSL

4 % Satellite

Question Number : 47 Question Id : 755905861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 48 Question Id : 755905862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Symmetric DSL is quite an obvious option to select if you use VPN on a regular basis to:

Options:
1 # have a secure transaction

5 of backup large files to the cloud
5 % accommodate a high number of users

4 % accommodate limited number of users

Question Number : 48 Question Id : 755905862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 49 Question Id : 755905863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The process of transforming URT s to assign importance to web pages and to reduce indexing of duplicate pages is
called:

Options:
1 % URL meodification

> % URL support
- % URL balancing

4 + URL normalization



Question Number : 49 Question Id : 755905863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
. % URL @i
- » URL @&d=

_ « URL Fge=

4 v URL AR

Question Number : 50 Question Id : 755905864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
How many alignments are available?

Options:
1 % Three
> # Five

= « Four

4 % Two

Question Number : 50 Question Id : 755905864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 51 Question Id : 755905865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
The basic building block of a CPU is:

Options:
1 & Al

> % RAM
s % ROM

4 % Timer

Question Number : 51 Question Id : 755905865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
CPU & 3@ fafese =is &

Options:

, ¢ ALU
. % RAM
- # ROM

4 ®% Timer

Question Number : 52 Question Id : 755905866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which keys are used to switch from the current window to the previous window?

Options:
1 % ALT+TAB

> « ALT+ SHIFT ~ TAB
s % CTRL KEY

4 % ALT+FI

Question Number : 52 Question Id : 755905866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

_ % ALT + TAB



, « ALT + SHIFT + TAB

z « CTRL KEY
4 % ALT + F1
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Question Id : 755905867 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension



Read the following passage and answer the questions that follow.
Climbing Everest

On May 29, 1953, Tenzing Norgay and Edmund Hillary created
history. They had scaled Mount Everest, the highest peak in the world.
From the peak, they looked at the scene below. It looked grand! Distant
peaks covered with white snow looked simply charming.

After spending fifteen minutes they decided to return.

The return journey was altogether different from the upward journey.
They had gone as ordinary climbers, but were now heroes. The whole
world was waiting to greet them.

For Tenzing the difference was going to be much greater.

He had struggled hard to see this day.

As a young boy he lived with his family in Solo Khumbu, a small
village in Nepal. He had to help his father in the farm. But he was least
interested in this work. His heart lay somewhere else. He wanted to
climb the Himalayas. One day he ran away and settled in Darjeeling. It
was from here that climbers used to go up the mountain peaks.

His first big breakthrough came in 1935 when he accompanied Frank
Smythe’s team as a porter. Tenzing was excited. But the party could
not make it. After scaling 23,000 feet most climbers felt so tired that
Smythe had to abandon the expedition.

In 1953 he accompanied the expedition led by John Hunt. The team
successfully reached the base camp before the last stage. The last part
of the climb was going to be treacherous. Hunt selected four persons
for the final ascent. Evans and Tom would go first. Hillary and Tenzing
would make the second attempt.

Tom and Evans returned unsuccessful because the weather turned foul.
So next day Hillary and Tenzing had to try their luck. They were lucky.
The weather was pleasant. The climb was very steep. One slip and they
could have a fatal fall. But the brave climbers kept moving.

At one stage they could not see anything. They were confused. But
then they realised that they were standing on top of the world. They
made a dream come true.

Sub questions

Question Number : 53 Question Id : 755905868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The 1935 expedition failed because. ..

Options:
1 % of ill health of all the climbers



> » Of bad weather and Smythe’s inability to lead

- « the climbers were too tired to continue

4 = Smythe was unwell and gave up the expedition

Question Number : 54 Question Id : 755905869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

When the author says, “They had created history™, he means:
Options:

, « theclimbers had done something remarkable

-~ » theworld was waiting to greet them.

= % the climbers looked at the scene below.

, = the climbers stood on the peak for fifteen minutes

Question Number : 55 Question Id : 755905870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The return journey for the two climbers was different from
the upward journey because:

Options:

, % theretumn journey was more arduous

-~ » they had conquered their fear.

- « they were feeling on top of the world

4 » they were thinking about the upward journey.

Question Number : 56 Question Id : 755905871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following statements is NOT true about Tenzing?
Options:

, w Hewas greatly inspired by the mountains.

-  He was medically unfit to climb heights.



- » Heranaway from home to settle in Darjeeling.

, » Hedid not want to pursue farming for livelihood.

Question Number : 57 Question Id : 755905872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

John Hunt had great leadership qualities. This can be
proven by the fact that he:

Options:
, w sent Hillary and Tenzing to climb the Everest

-~ % Was loved and respected by his team members.

- % selected the most experienced climbers for his team.

4 planned a strategy and formed two teams to ensure success

Question Id : 755905867 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Label © Comprehension
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Sub questions

Question Number : 53 Question Id : 755905868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 54 Question Id : 755905869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 55 Question Id : 755905870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 56 Question Id : 755905871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 57 Question Id : 755905872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
A g€ H FgH oided 90T ¥ TE FH I
¥ e oo o gear § & 3=

Options:

|« TRFE W Tea F T el st 3 @ e

, » 3R &7 ¥ FEEd gAN SOR AR TEAE 9ra|

3T & F O T e TEarifedr F a9
« TFam
&

U 0TI $r AT a5 AR Therar giafeaa
L v B & e g & # e R

QUANTITATIVE AFTITULE

Section Id : 755905107
Section Number : 3



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905107
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 755905873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What approximate value should come in place of the question mark (7) in the following question? (You are not expected
to find out the exact value. )

Eu% of 248.65 =7 of 2308.59

Options:

Ul | B2

1. B

B | ek | e

| R

Question Number : 58 Question Id : 755905873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 59 Question Id : 755905874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In how many different ways can the letters of the word ‘BANKING’ be arranged?

Options:
| % 5040

Question Number : 59 Question Id : 755905874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. % 5040
. % 2540
- = 5080

4 v 2520

Question Number : 60 Question Id : 755905875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

There are two numbers such that the sum of twice the first number and thrice the second munber is 100 and the sum of
thrice the first munber and twice the second oumber iz 1200 Which is the larger number?

Options:
1.+ 32

- R 12

=z W 14

o
"
Lad
N

Question Number : 60 Question Id : 755905875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
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Options:

1 ¥ 32
> R 12
o W 14

g 35

Question Number : 61 Question Id : 755905876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The angles of a quadrilateral are in the ratioof 2 : 4 : 7 : 3. The smallest angle of the guadrilateral is equal to the

smallest angle of a triangle, Oneg of the angles of the riangle is twice the smallest angle of the riangle. What is the
measurement of second largest angle of the triangle?

Options:
1 ® 80°

o« 60°
s % 1200

4 # Cannot be determined

Question Number : 61 Question Id : 755905876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 62 Question Id : 755905877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

Fifty-three percent of a number 15 358 less than the square of 26. What is the value of three-fouwrths of 23 percent of that
mmber?

Options:

1.« 103.5

> % 109.5
5 % 113

4 % 101

Question Number : 62 Question Id : 755905877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:

.« 1035
. % 109.5
s % 113

4 % 101

Question Number : 63 Question Id : 755905878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The side of a square is half the diameter of a circle. The area of the square is 1225 cm®. What is the area of the circle?
Options:

, % 962.5 cm?

5 « 3850 cm?

5 % 15400 cm?

4 % 15600 cm?

Question Number : 63 Question Id : 755905878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. % 9625 cm?2
. » 3850 cm?2
- % 15400 cm?2

4 % 15600 cm?2
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Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905108
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 755905879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Study the following arrangement carefully and answer the question given below:

WIR%W4TES TMTZI®BH3IASOFQSDGAUSP

Three of the following four are alike noa cerlain way on the basis of above arrangement and hence from a group. Which
of the following does NOT belong to that mroup?

Options:

1 ® RW4

Question Number : 64 Question Id : 755905879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, x RW 4
., % 5FG
v 9QA

Question Number : 65 Question Id : 755905880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Study the following series of alpha-numeric-svmbol combination and answer the gquestion that follows;

SKAELQIR*CFRESGIR40LNIUVEIYuBT WS

Three of the following four are alike in respect of their positions in the above series. Which 15 the one that does NOT
belong te that group?

Options:

1 ® Q * 8

> % £RF

Question Number : 65 Question Id : 755905880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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1 % Q=+ 8



% ERF
2% 62C
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Question Number : 66 Question Id : 755905881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Study the following series of alpha-numeric-symbol combination and answer the question that follows:

SK6£Q2R*CFE8ESG2#49LN3UVSYaB7W?9

S K £ is related to 9 W B in the same way as Q 2 * is related to:

Options:
1 % aVU

o 80X S
=z W 1BY

4 0YV

Question Number : 66 Question Id : 755905881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 R [IVU
o W EIYS
2% 7BY

aw @ XV

Question Number : 67 Question Id : 755905882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Among the following words, which one will come third when they are arranged in an order as they would appear in an
English dictionary?
Options:

, » Rigour

-~ % Remove

5 % Retrospect

4 « Revive

Question Number : 67 Question Id : 755905882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

, = Rigour

> % Remove

5 » Retrospect

4 « Revive

Question Number : 68 Question Id : 755905883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
If letters from A to M were written, leaving space for one letter bebween every two letters, and then the remaining letters

were inserted, beginning with N and ending the series with £ after M.
Which letter would be exactly betwreen D and K7

Options:

1 ® S

2 T

2 % V

4 B W

Question Number : 68 Question Id : 755905883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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1 % S
2 T
z #® V

4%-$W

Question Number : 69 Question Id : 755905884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the option with the most appropriate description about these three celebrities.

Devika Rani : Sohrab Modi : Raj Kapoor
Options:

; w» They were great directors.

- % They have largest number of films to their credit.
-  [Ihey received the Dadasaheb Phalke award.

4 % They were honoured with the much coveted award ‘Padma Shri’.

Question Number : 69 Question Id : 755905884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Section Id : 755905109

Section Number : 5

Section type: Online
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Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905109
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 755905885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

National Institute of Nutrition is a institute located in the state of:
Options:

1 « Andhra Pradesh

> % Himachal Pradesh

5 » Madhya Pradesh

4 #% Uttar Pradesh

Question Number : 70 Question Id : 755905885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 71 Question Id : 755905886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Which of the following is NOT the colour of five intertwined Olympic rings?

Options:
1 # Yellow

> % Black
2 « Violet

4 % Blue

Question Number : 71 Question Id : 755905886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 72 Question Id : 755905887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which type of lake is formed by volcanic activities?
Options:

, = lLagoon

> « Cladera lake
3 # Fresh water lake

4 % Karst lake

Question Number : 72 Question Id : 755905887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 73 Question Id : 755905888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Veliconda group of low hills is a structural part of:

Options:
1 +« Eastern Ghats

> % Western Ghats
% % Gardamom Hills

, » Nilgiri Hills

Question Number : 73 Question Id : 755905888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 74 Question Id : 755905889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which year were the provisions regarding Municipalities and Panchayats made in the Indian Constitution?

Options:
1 ® 1991



> « 1993
5 % 1995

4 % 2000

Question Number : 74 Question Id : 755905889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

, % 1991
. » 1993
- % 1995

., % 2000

Question Number : 75 Question Id : 755905890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Despotism is possible in a:
Options:

| & one party state

> % two party state
- u multi-party state

4 % two and multi-party state

Question Number : 75 Question Id : 755905890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Revisit allowed for view? : No
Revisit allowed for edit? : No
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Group Marks: 0

English Typing Test

Section Id : 755905110

Section Number : 1

Section type: Typing Test
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Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
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Question Shuffling Allowed : No

Question Number : 76 Question Id : 755905891 Question Type: TYPING TEST Display Question Number : Yes

Surnmer camps are supervised camps conducted to entertain as well a5 equip students with warious life skills
such as tearmwork, socializing, decision making, independent and responsible living and mors, [t aids the
overall development of a child and children hawve fun during this process as they get to explore new arenas.
Restricted/ Unrestricted: Unrestricted

Paragraph Display: Yes

Evaluation Mode: Non Standard

Keyboard Layout: Inscript

Show Details Pandl: Yes

Show Error Count: Yes

Highlight Correct or Incorrect Words: Yes

Allow Back Space: Yes

Show Back Space Count: Yes
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Group Number : 3

Group Id: 75590567
Group Maximum Duration : 15
Group Minimum Duration : 15
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 0

English Typirg Test

Section Id : 755905111

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905111
Question Shuffling Allowed : No

Question Number : 77 Question Id : 755905892 Question Type: TYPING TEST Display Question Number : Yes

The capability of an individual to translate knowledge into action is known as skill. It is not necessarily inborn.
[t can be developed through practice and through relating learning to one's owrl personal experience and
background. Skills of manager-Technical skills. Technical skills refer to the ability to carry out a specific
activity, which may involve the use of tools, equipment, procedures, and knowledge of a specialized field. It is
concerned with the ways of doing the things. Technical skills are most important for the first level managers as
much of their time is devoted in training and clarifying the doubts of subordinates. Effective supervision and
coordination depends o the technical slall possessed by the lower level rranager. Any supervisor withiout a
sound knowledge of technical skills cannot be an effective supervisor. Hurman Skills. Human skills or
interpersonal skills are prirmarily concerned with persons. It is the ability of a person to work well with others
in a group. It is concerned with the understanding and awareness of owr attitudes, assumptions, and beliefs.
A5 the viewpoints and feelings are different from each other, these skills involve understanding why people
behave as they do. Conceptual Skills. It is the understanding of various components of an organization that
relate to one ancther and associate the organization with external environment. It involves the ability to
understand how the various parts and functions of an organization mesh together and how changes in any
one of these may affect all the others. & high degree of conceptual skill helps in analyzing the environment
and in identifying the opportunities and threats. Management job always requires all the three skills, but in
different proportions depending upon the level of management. Technical skills and hurman skills are always
in great dermand at the lower level of management. The need for conceptual skill is greatest at the top level of
management. Further, management development prograrnmes help in acquiring and developing different
types of managerial skills and knowledge, such as the ons given below. Decision-making skills. The main job
of a manager is to make both strategic and routine decisions. His ability to take effective decisions can be
enhanced by developing decision-making skills through various techniques, for example case study method.
This is a training method that employs sirmulated business problems for trainees to solve. The individual is
expected to study the information given in the case and make decisions based on the situation. If the student
is provided a case involving an actual company, he is expected to research the firm to gain a better
appreciation of its financial condition and corporate culture. Typically, the case method is used in the class
roorm with an instructor who serves as a facilitator.
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